MBI R =R

Installation Guide for Panel Antenna

Issue: 01

() NoTE/#

1, Only qualified personnel are allowed to install the antenna. 2, Appearance of the actual antenna may differ from the pictures.

1, R A% 1238 N 1Ak . 2, for B 5 Re A 2, BRI HLE DLSEY) e .
Installation tools Bracket Subassembly
RETH X ZEH A% (The picture is for reference only)

Y
pr——o(()
8 mm combination wrench (2 PCS) Py 1242428, 248;
8mm W T (2 PCS) < M10x180, 2 pcs
“U” Kit, 1 pcs;

10 mm combination wrench (2 PCS)
10mm P H#RTF (2 PCS)

= ““ kg, 24: IRL44BF8, A4;

E: B E& Clamp, 2 pcs; M8x22, 4 pcs

Note: Prepared by customer

T ixInstallation Guide:

Install the bracket
TEZR

IBRFEREEERZPHRERL, Bi82pcsihr MR
M8X22%z L, EPRE(EIREBIR, FA1SNmlEITRIZE.,

Fix the mounting frame on the mounting plate in the
middle of the antenna, then install 2pcs external hexagon
screws M8x22, install the spring flat washer on the nut
end, and tighten the nut with 18Nm torque.

Install the clamp

Ere P

IBIPRBET EERRNREEE, B L2 MM AR
£4M8X22 S HRTEIREIR. F18NmIAEITRIZE,

Install 1 clamp on the mounting frame completed in the
previous step, then install 2 outer hexagonal screws
M8x22, and install the spring flat washer on the nut end.
Tighten the nut with 18Nm torque.




MBI R =R

Installation Guide for panel antenna

Issue: 01

3 Install the antenna

RERE

FerERD L3 F2ARIMMIREM10x180, B LIGH (BHFEE
@50-¢115mm) LAR14NKHS, FI32NmiBsES T RIZE .

Install two outer hexagonal screws M10x180 on the clamping
code, then install the holding rod (the range of the pole ¢50-
®115mm) and one clamping code, and tighten the nut with 32Nm
torque.

Adjust the mechanical downtilt angle

UEREL/ 1R AR

BREGFESENTHAE, ARBARIRLIZEITR, ®

P
2RIGPXo

Adjust the antenna to a proper down tilt, and then tighten all
screws and nuts to complete installation

SPAEOS
SR8

G FHIREIMS

AN NFEIRZZMBX22

Flat washer ® 8

Elastic washer ¢ 8

Outer hexagon nut M8
Outer hexagon screw M8x22

Table 1
Screws size/i{&$TR <+ Torque/1%E
Finally, tighten all the nuts.
Recommended torque see Table 1. M8 18 Nm
= ]} o % 1 —°
BEITETEEE. SEMENEFR 10 32 Nm

Make sure the antenna is installed in a safe and suitable location and well clear away from high power lines.
RETEN, BEFE— N EEEENRERIHITRE;

Do not attempt to carry out installation when it is raining, snowing or during stormy weather.

EEETH. TEHEANERSESHIHNERRRE ;

Do not attempt to install the antenna on a pole of diameter other than the specified 50 ~ 115mm.

EFSEAET, MEERBEREI50 ~ 115mmZIMNIHErT;

For particular installation, please contact Tongyu Communication Inc.

WBRHLEELR [REFERRNERAT, MiL: www.tycc.on




